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A marriage agency has n customers of both sex. It is known the age of all the customers
(expressed with the same unit for everybody, and it does not have to be years; it could be
months, days, etc). The two people in charge of the agency have different opinions about
how the customers should be paired off. One of them thinks that the sum of the differences
of ages of each formed pair should be minimized. The other one thinks just the opposite
think, that is, that the sum of the differences should be maximized.

Write a program that computes the minimal possible sum of differences and the maximal
possible sum of differences. For instance, if n = 2, the men are 25 and 40, and the women
are 20 and 50, then there only are two possibilities: 25-20, 40-50 (with total sum 15) and
40-20, 25-50 (with total sum 45).

Input
The input consists of 1 < n < 10%, followed by n numbers in a line with the ages of the men,
followed by n numbers in other line with the ages of the women.

Output

Your program must print a line with two numbers separated by a space: the minimal possi-
ble sum of the differences of ages, and the maximal possible sum of the differences of ages.
Both numbers will be between 1 and 10°.

Sample input 1 Sample output 1
2 15 45

25 40

20 50

Sample input 2 Sample output 2
4 58 118

65 18 65 24

24 20 50 24

Sample input 3 Sample output 3
1 22 22

80

58
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